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1 26 dg s'df/L >]i7 61 dlxnf uf]/vf zlxbnvg 8 alx/é

2 27 k"0f{ rGb| clwsf/L 81 k'?if uf]/vf clh/sf]^ 5 alx/é

3 28 lrgL dfof e§/fO{ 70 k'?if uf]/vf uf]=g=kf= 1 alx/é

4 29 wg s'df/L >]i7 81 dlxnf uf]/vf l;/fgrf]s 6 cGt/é

5 30 ofd axfb'/ yfkf 65 k'?if uf]/vf zlxbnvg 7 alx/é

6 31 sgs b]jL yfkf 69 dlxnf uf]/vf zlxbnvg 7 alx/é

7 32 ?k axfb'/ yfkf 69 k'?if uf]/vf

af/kfs 

;'lnsf]^ 6 alx/é

8 33 l;tf/fd 3lt{ 69 k'?if uf]/vf l;/fgrf]s 4 cGt/é

9 34 kDkmf sfdL 78 dlxnf uf]/vf kf=g=kf= 8 alx/é

10 35 hf} dfof 9sfn 72 dlxnf uf]/vf uf]=g=kf= 2 cfsl:ds

11 36 l6sf s'df/L ;fsL{ 63 dlxnf uf]/vf uf]=g=kf= 8 alx/é

12 37 kbd s'df/L u'?Ë 74 dlxnf uf]/vf

af/kfs 

;'lnsf]^ 6 cfsl:ds

13 38 gGb dfof 9sfn 70 dlxnf uf]/vf l;/fgrf]s 7 alx/é

14 39 ljjf ;fsL{ 65 dlxnf uf]/vf uf]=g=kf= 8 alx/é

15 40 slkn axfb'/ vqL 69 k'?if uf]/vf uf]=g=kf= 5 alx/é

16 41 nlntf u'?Ë 62 dlxnf uf]/vf

af/kfs 

;'lnsf]^ 7 alx/é

17 42 led axfb'\/ kl/of/ 69 k'?if uf]/vf kf=g=kf= 9 alx/é

18 43 hLt axfb'/ s'dfn 68 k'?if uf]/vf uf]=g=kf= 12 alx/é

19 44 cfkf s'dfn 70 dlxnf uf]/vf uf]=g=kf= 12 cGt/é

20 45 dfg axfb'/ s'dfn 68 k'?if uf]/vf uf]=g=kf= 10 alx/é

21 46 sdn gf/fo0f >]i7 71 k'?if uf]/vf zlxbnvg 7 cfsl:ds

22 47 lg/ dfof cfn] du/ 73 dlxnf uf]/vf led;]gyfkf 8 cfsl:ds

23 48 /]jtL k|;fb ;fksf]6f 73 k'?if uf]/vf led;]gyfkf 7 cfsl:ds

24 49 lvnf zdf{ cof{n 69 k'?if uf]/vf uf3 7 alx/é

25 50 led axfb'\/ yfkf du/ 70 k'?if uf]/vf uf]=g=kf= 2 alx/é

26 51 k"0f{ axfb'/ aflgofF 69 k'?if uf]/vf uf]=g=kf= 2 alx/é

27 52 dGh' kGt zfx 71 dlxnf uf]/vf kf=g=kf= 6 alx/é

28 53 bf]jGtL s'df/L of]uL 70 dlxnf uf]/vf uf]=g=kf= 3 alx/é
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29 54 lbks >]i7 62 k'?if uf]/vf uf]=g=kf= 7 alx/é

30 55 l6sf/fd yfkf If]qL 67 k'?if uf]/vf

af/kfs 

;'lnsf]^ 5 alx/é

31 56 dg dfof yfkf 72 dlxnf uf]/vf uf]=g=kf= 8 alx/é

32 15 ltns s'df/L kl/of/ 65 dlxnf uf]/vf uf]=g=kf= 11 alx/é

33 57 lji0f' axfb'/ s'dfn 64 k'?if uf]/vf l;/fgrf]s 4 alx/é

34 58 t'n;L dfof s'dfn 64 dlxnf uf]/vf l;/fgrf]s 4 alx/é

35 59 ?b| s'df/L >]i7 72 dlxnf uf]/vf zlxbnvg 7 alx/é

36 60 d}ofF s'df/L a:g]t 70 dlxnf uf]/vf uf]=g=kf= 3 alx/é

37 61 /fd axfb'/ k|hf 66 k'?if uf]/vf zlxbnvg 4 alx/é

38 62 gGb s'df/L bfgL 84 dlxnf uf]/vf uf]=g=kf= 3 cfsl:ds

39 63 eGb' dfof nfdf 73 dlxnf uf]/vf cf?#f^ 1 cGt/é

40 64 wg dfof ufGwf/L 64 dlxnf uf]/vf uf]=g=kf= 7 alx/é

41 65 /fwLsf u'?Ë 89 dlxnf uf]/vf zlxbnvg 9 cGt/é

42 66 /flwsf cof{n 65 dlxnf uf]/vf uf]=g=kf= 6 alx/é

43 67 ldg axfb'/ jflgofF 72 k'?if uf]/vf kf=g=kf= 9 cGt/é

44 68 l;/ dfof sfdL 68 dlxnf uf]/vf l;/fgrf]s 8 cGt/é

45 69 lj/ axfb'/ u'?Ë 69 k'?if uf]/vf zlxbnvg 7 alx/é

46 70 nf]s axfb'/ /fgf 71 k'?if uf]/vf uf]=g=kf= 7 alx/é

47 71 b]a' u'?ª 98 dlxnf uf]/vf

af/kfs 

;'lnsf]^ 7 alx/é

48 72 ;/:jlt jf8fF 70 dlxnf uf]/vf led;]gyfkf 1 alx/é

49 73 lnnf k|;fb kGt 83 k'?if uf]/vf u)*sL 2 alx/é

50 16 dfof b]lj ;fsL{ 51 k'= uf]/vf ` 5 cGt/é

51 17 ;fljqL ;'gf/ 52 d uf]/vf

af/kfs 

;'lnsf]^ 8 cGt/é

52 18 ;'lgn /fO{ 52 k" uf]/vf uf]=g=kf= 11 cGt/é

53 19 ;fsL{ u'?Ë 49 k"= uf]/vf wfr]{ 2 alx/é

54 20 /fh s'df/ nfld5fg] 18 k"= uf]/vf led;]g yfkf 8 alx/é

55 21 s?0ff yfkf du/ 12 d= uf]/vf led;]g yfkf 6 cGt/é

56 22 s[i0f dfof r]kfª 35 d uf]/vf uf]=g=kf= 12 cfsl:ds

57 23 ;'lznf >]i7 36 d uf]/vf uf]=g=kf= 6 cGt/é

58 24 ;ld{nf yfkf If]qL 41 d uf]/vf uf]=g=kf= 7 cGt/é

59 25 ;fu/ sf]O/fnf 38 d uf]/vf uf]=g=kf= 7 alx/é

60 26 k|s[lt s'j+/ 12 d uf]/vf uf]=g=kf= 12 cGt/é

61 27 d's]z xh/f 23 k'= uf]/vf uf]=g=kf= 6 cfsl:ds

62 27 d's]z xh/f 23 k'= k;f{

lh/fejflg 

uf=kf= 5 cGt/é

63 28 k|ljg u'?ª 37 k'= uf]/vf l;/fgrf]s 6 cGt/é

64 25 ;fu/ sf]O/fnf 38 k'= uf]/vf uf]=g=kf= 7 cGt/é



65 29 ljlkg ;'gf/ 32 k'= uf]/vf u)*sL 4 cGt/é

66 30 lhtdfof e08f/L 47 d uf]/vf uf]=g=kf= 9 alx/é

67 31 Pln;f du/ 17 d= uf]/vf l;/fgrf]s 8 cGt/é

68 32 led;]g lj=s= 29 k'= uf]/vf kf=g=kf 1 cGt/é

69 33 cGh' a:g]t 31 d= uf]/vf uf]=g=kf= 3 alx/é

70 34 /fd rGb| uf]tfd] 26 k'= uf]/vf zlxbnvg 9 alx/é

71 35 nIdL kl/of/ 13 d= uf]/vf clh/sf]^ 3 cfsl:ds


